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Note : Section ‘A’ containing 10 very short answer type
questions, is compulsory. Section ‘B’ consists of

short answer type questions and Section ‘C’
consists of long answer type questions. Section ‘A’

has to be solved first.

qug ‘31’
Section ‘A’

freTfera Sifaerg SWIT J9 & ST TH a7 & A
43

Answer the following very short answer type
questions in one or two sentences. 1x10=10

1. 4% (#9 Fagd &7
What is data ?

P.T. O.

10.
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qIefieh GHF [H4 Fad 87

What do you mean by Primary data ?
YT T &2

What is dispersion ?

fasgar &1 379 FdEy |

State the meaning of skewness.

TETrT=] foha JHR T &l &7
What are the types of correlation ?
FArqTH I@rd gl € 2

What are the regression lines ?
R @1 RYIIa HHIT |
Define Index Number.

FIeT A1 9 Fed &7

What do you mean by Time series ?

fa

=EdId qalgar o #8d &7

What is Business forecasting ?

v ‘gl #1379 FAET

Explain the meaning of the term ‘Probability’.
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e ‘g’
Section ‘B’

freTfera &g W g9 & I 150-200 I155 T
731

Answer the following short answer type questions
with word limit 150-200. 5x5=25§

“GifiegenT F1 Gat 37¢f 7 ‘3iia F1 famrT’ Far S
&7 TEEEy
‘““Statistics may rightly be called the science of

Average” Explain.

37erer

Or

grefies GHE F THA FIH F1 Afdd Jasg
State the collection methods of primary data.

STYIHITT & TI9T HT G FaEy

State the measuring methods of dispersion.

HIqr
Or

7 SRt @ fa9war qond F91q Hied—
qreq = 108, FeFeht = 107-5, FHIT fa=erd = 15-73

[ 3] P.T. O.
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Find out the coefficient of skewness from the

following information :

Mean = 108, Median = 107-5, Standard Deviation =
15-73

7 SR @ @ict (49 &1 Teqw=< oI FT
Z_
Sdxdy = 35, Zd*x = 30, Zd%y = 108, N = 10.

Find out coefficient of correlation by Carl Pearson
from the following information :

Sdxdy = 35, Zd*x = 30, Zd%y = 108, N = 10.

37q4ar
Or

T T GegrE— § <R FdlsT/
Distinguish between Regression and Correlation.
fRR ST59 o &1 I forag |

Write Fisher’s ideal index number formula.

3q4ar
Or

g aif a9 &2 399 3T god 1 T B
F1 S &7
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What is the method of least squares ? How to calculate
trend value in this ?

. &4 T8 99 7 S &9 3 T @, 53 YR & H1
T GEIET g ?

What is the chance that a non leap year should have
53 wednesday ?

37qar
Or

EdTw qagar g #ed &7 9% Hed
gy |

What do you mean by business forecasting ? Discuss

its importance.
gue ‘q’
Section ‘C’
frefifend &16 STRIF g9 & IW 300-350 915 &A1
7431
Answer the following long answer type questions
with word limit 300-350. 8§ x5=40

1. 777 qa% #@en 9 qfafiss &1 T Hifog—

UTwdteh |0-10[10-20[20-30(30-40[40-50{50-60[60-70
W&T (15|25 |32 |56 | 78 | 80 | 75

[ 5] P.T. O.
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Calculate mode from the following series :

Marks |0-10{10-20{20-30{30-40[40-50|50-60(60-70
Number| 15 | 25 | 32 | 56 | 78 | 80 | 75

37erar
Or

e slegl @ g =qde @id FifTq—

M [9-11]12-14[15-17]18-20{21-23
smarew| 4 | 11 | 20 | 9 8

<

Calculate third quartile from the following data :

Class [9-11(12-14|15-17|18-20(21-23
Frequency| 4 | 11 20 9 8

. [ SR @ JA9 fa=erT ug 39ET JUld T

qﬁﬁ,—q_

X = 1230, =d? = 622, N = 10.

Calculate standard deviation and its coefficient from
the following informations :

X = 1230, =d? = 622, N = 10.

3g4ar
Or

freg sitmel @ @1e T &7 fawEar qonE @
FTT—
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N = 150, T&gh7 = 45, e = 39-27, FH9 fa=erd
= 22-81.

Calculate Karl Pearson’s coefficient of skewness from

the following data :

N = 150, Median = 45, Mean = 39-27, Standard
Deviation = 22-81.

7 SR @ 1t [TdT o qGeaw< s &1

T HifoTT—

X guit Y guit
areq 31 61
a1 fa<erd 3.25 3.35

X T Y fa=erl & JOTEel 1 99 = 75
X TF Y 991 &1 & = 10.

Calculate Karl Pearson’s coefficient of correlation

from the following information :
X Series Y Series
Mean 31 61

Standard Deviation 3.25 3.35

(7] P.T. O.
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Sum of the product of deviations of X and Y = 75
No. of X and Y series = 10.
37erar

Or

AT THIRT & 77 sfehel @ TR 4 3 70
qed & SR TGyl BT God Ad Hifd—

WA feremagy

I () 65 67
JH1Y fa=erd 2-5 3-5
TETEI~ UF + 0-8

By regression equation calculate price of Bilaspur on
the basis of ¥ 70 of Raipur price from the following
data :

Raipur  Bilaspur
Mean 65 67
Standard Deviation (S. D.) 2-5 3-5
Coefficient of Correlation () + 0-8
757 37iehgl @ h¥R 1 [e¥ne A1 i T HY
ST RIS I [ HifTT—
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el M T = st
7q ) | AE (kg) |Fed ) | 7FT (kg)
£ 06-00 50 10-00 56
q 02-00 100 | 02-00 120
g 04-00 60 | 06-00 60
4 10-00 30 12:00 24
g 08-00 40 12:00 36

Construct index number from the following data by

using Fisher’s formula and prove Time Reversal Test :

Commo- Base Year Current Years
dities Price | Quantity | Price | Quantity

® (kg) (9] (kg)

A 06-00 50 10-00 56

B 02-00 100 02-00 120

C 04-00 60 06-00 60

D 10-00 30 12-00 24

E 08-00 40 12-00 36

P.T. O.

Code No. : A.B.B-237

37dar
Or

7 aiferer & YR W ~Aaq 97 Ufd & el
ggfa 3@ & @ & R H SIER] 91d HIT0—

s (2011]2012(2013]2014 (2015
e (X) 107 [ 110 [ 114 | 114 | 115

From the following table find the slope of a straight
line trend by the least square and fit the trend :

Year |2011|2012]2013|2014|2015
Price ()| 107 | 110 | 114 [ 114 | 115

. 757 sIssT % 78R FI TH 1Y AT fhad HHEY

§9T ST G &—
(i) UNIVERSITY,
(i) COLLEGE.

In how many ways can the letters of the following

words be arranged separately :
(i) UNIVERSITY,

(ii) COLLEGE.
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HIar
Or

T do1 7 5 cller agr 8 Fieil e &1 3,3 7 2 a9
fApret S 8 ggelt ar g fAdie & §Ig 99y
97 § W 31 SIdl &, 39 919 @1 T GfIEar & fF

TEEl AR 3 T T §ERT aR 3 HIeAl g (Herett gl 2

A bag contains 5 red and 8 black balls. Two draw of
three balls each are made. The balls being replaced
after the first draw. What is the chance that in the first

draw the balls were red and in the second black ?

000004 O0000
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